MsDP-21/14/2017-MsDP-MOMA Government of India Ministry of Minority Affairs

11th Floor, Paryavaran Bhavan, C.G.O. Complex, Lodi Road, NewDelhi-110003, Dated: 28.09.2017

To

The Pay & Accounts Officer, Ministry of Minority Affairs, Pt. Deen Dayal Antyodaya Bhawan, New Delhi

Subject: Grant in aid for engagement of Block Level Facilitators(BLFs) under the Centrally Sponsored Scheme of Pradhan mantra Jan Vikas Karyakram(erstwhile MsDP) for Minority Concentration Blocks to Government of Arunachal Pradesh for the year 208-19.

Sir,

I am directed to convey the sanction of the President for release of an amount of Rs. 39,30,000/-(Rupees Thirty-Nine Lakh Thirty Thousand only) to the Govt. of Arunachal Pradesh for engagement of Block Level Facilitators(BLFs) each in 24 MCBs in the State of Arunachal Pradesh during 2017-18. The sanction amount includes monthly remuneration of BLFs for 2017-18 @ Rs. 10,000/- salary and Rs. 5,000/- for TA/DA at a total cost Rs. 15,000/- per BLF per month for the period of 3 months in 2 blocks, 4 months in 1 block and 12 months in 22 blocks. as per terms of Para 16 of the guideline of PMJVK.

- 2. The expenditure is debit able to Demand No.66, Ministry of Minority Affairs Major Head- "3601" Grant-in-aid to State Government, 06- Grants for State Plan Scheme (Sub Major Head), 101 -General-(Welfare of Schedule Casts, Schedule Tribes, Other Backward Classes and Minorities) -other grants (Minor Head), 49 Multi-sectoral Development Programme for minorities, 49.00.31 Grant-in-aid general for the year 2018-19.
- 3. Since it is fresh release, no UC is pending. Utilization Certificate for this grant should be submitted by the grantee in the prescribed format within 12 months of the date of the Sanction Order.

मंद्री शर्मा S.K. SHARMAN भट्टी शर्मा S.K. SHARMAN भट्टी प्राथित Under Secretary अवर सचित्र। Under Secretary भारत सरकार (Gov). of India भारत सरकार (Gov) मंत्रालय अल्पसंख्यक कार्य मंत्रालय अल्पसंख्यक कार्य मंत्रालय Ministry of Minority Affairs Ministry of Minority Affairs

- 4. A list of the MCBs for which the BLFs have been engaged as informed by the State Govt. is enclosed at Annexure-I.
- 5. This is to certify that the present sanction/expenditure is covered under the MEP for the month of September, 2018 and Integrated Finance Division (IFD) has approved the expenditure during the second quarter of the financial year 2018-19.
- 6. This sanction issues with the concurrence of IFD vide their Note. No. 100 dated 19.09.2018 of File No. MsDP-21/14/2017-MsDP-MOMA. It is noted at S.No.4 in the Grant-in-aid Register of IT Cell.

Yours faithfully,

भारत एडि K Sharma) भारत एडि K Sharma) e Government of India

एस. के. शर्मा 18 (.. इ

Under Secretary to the Government of India Tel: 011-24302593

Copy to:-

1. The Accountant General (A&E), Arunachal Pradesh, Itanagar

2. Manager Reserve Bank of India, Central Account Section, Nagpur-440001

3. Secretary, Social Justice & Empowerment and Tribal Affairs Department, Govt. of Arunachal Pradesh, Itanagar.

4. Director General of Audit, Central Revenues, AGCR Building, New Delhi-2.

5. Secretary, Finance Department, Govt. of Arunachal Pradesh, Itanagar.

6. DMs/DCs of concerned districts.

7. Sanction folder.

8. MoMA-NIC Computer Cell (Shri Dinesh Chandra, Technical Director) for website updation.

एस. के. इसी

Under Secretary to the Government of India

अल्पसंख्यक कार्य मंत्रालय Ministry of Minority Affairs नई दिल्ली/New Delhi Payment of monthly remuneration and expenses towards TA/DA in respect of 24 Block Level Facilitators for the financial year 2017-18

51.	Block	District	Monthly renumera tion	TA/DA	Total (wage + TA/DA)	No of months	Total
no 1	Tawang	Tawang	10000	5000	15000	12	180000
2	Lumla	Tawang	10000	5000	15000	12	180000
3	Mukto	Tawang	10000	5000	15000	12	180000
	Nafra-	West					
4	Burgaon	Kameng	10000	5000	15000	12	180000
	2008000	West					
5	Dirang	Kameng	10000	5000	15000	12	180000
	Kalaktan	West				5000 E	
6	g	Kameng	10000	5000	15000	12	180000
	Doimukh	Papum					
7	Kimin	Pare	10000	5000	15000	3	45000
75 E		Papum					
8	Sagalee	pare	10000	5000	15000	3	45000
9		Lower Subhansiri	10000	5000	15000	12	18000
10	Chamban	Van Dadi	10000	5000	15000	12	18000
10	-	Kra Dadi	10000		15000		18000
11	Palin	Kra Dadi	10000	3000	13000	12	10000
12		Changlang	10000	5000	15000	12	18000
13		Changlang	10000	5000	15000	12	18000
	Bordums		10000				
	a Diyun	Changlang					18000
15	0		10000	5000	15000	12	18000
16		Longding	10000		15000	12	180000
17	Niausa	Longding	10000	5000	15000	12	180000
18	Mechuka	West Siang	10000	5000	15000	12	180000
19	Basar	West Siang	10000	5000	15000		100000
20	Gensi	West Siang	10000	5000		12	180000
शर्मा स्वा	S. K. SHARMA S. K. Secretary Unk of Secretary Unk of Secretary Unk of Secretary Of Minority October Of Minority Delhi	Siang(Bifur cated from West Siang)			15000	12	180000
अल्पपार Ministry (of Millow Delhi	marg)	10000	500	15000		

	Tuting Ramle	Upper Siang East Siang	10000	5000	15000	12	180000
23	Namsai Total	Namsai(Bif urcated from Lohit)	10000	5000	15000	4	3930000 3930000

912812018

Public Financial Management System-PFMS O/o Controller General of Accounts, Ministry of Finance

Sanction Details

AdhocReports SchemeWiseContactDetails

CAM Reports

Masters

Users Agency

> Sanctions preSanction Sanction Custom Fields

printing Templates

Sanction Templates Employee Info. System

Reports

Masters

My Schemes Agencies

> Scheme Allocation Register/ Track Issue

Utilisation Certificate

OLD UC

Controller: 092-MINISTRY OF MINORITY AFFAIRS

sanction Number: MsDP-21/14/2017-MsDP-MOMA

Sanction Type: Transfer (Advice) 100 IFD Number:

9217-Development of Minorities - Multi Sectoral Development Programme for Minorities (MSDP) scheme:

DDO: 292005-SECTION OFFICER(CASH), MIN. OF MINORITY AFFAIRS

created By: ak_mma Modified By: ak_mma

File Uploaded: BLF 2017-18 release.pdf

Sanction Status: Approved Sanction Date: 28/09/2018

Remarks: ok

Sanction Amount: 3930000 IFD Date: 19/09/2018

PAO: 092001-PAO, MINISTRY OF MINORITY AFFAIRS, SHASTRI BAHWAN, NEW DELHI

Created On: 28/09/2018 11:45:40 AM Modified On: 28/09/2018 11:45:59 AM

A	account Detai	Function Head	Object Mead	Category	Amount	PAO	Budget	
	Grant 066 - Ministry of		31 - GRANTS-IN- AID GENERAL	5 - VOTED	3930000		198338800	
	Minority Affairs							

Sr.No	Agency Name	City	District	State	Country	Gross Amount	Deduction Amount	Net Amount	Payee Remarks
1	ARUNACHAL PRADESH GOVT.	Govt.		ARUNACHAL PRADESH	INDIA	3,930,000	0	3,930,000	

Sanction Approved Successfully But SMS has not been senue to network issue,

Print Sanction Order Back

S.K. SHARMA AT THE Under Secretary HIGH CHARLES SECRETALY
HIGH CHARLES STATE AND ASSESSED ASSESSEDAD ASSESSED ASSESSEDA एस. के. अनुस्तिक्वल कार्य मंत्राल्य Ministry of Minority Affairs Ministry of Minority Delhi

https://pfms.nic.in/Sanction/SanctionDetails.aspx?sid=qXVbGfRf5Fo